



Exercises for Human Mind
1. Suppose there are three possibilities for the outcome of an event. If one does not have priori understanding of the event, what is the uncertainty of the event? If one knows the probability of three outcomes are {0.7, 0.1, 0.2}, what is the uncertainty of the event? Explain why people often have stereotypes about particular events or people.  
2. Suppose there are 10 events. If we study them separately, the information cost will be 
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If we classify the events into two groups, the information cost will be 
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Here pi, qi are probability measures. Assume each pi, qi are equal. What are the information costs of study each event separately and classify them into two groups. Explain why people tend to lump things together instead of study them individually. 
3. Suppose a technology will have 85% chance of bringing high profit and 15% chance of losing money. The uncertainties in estimation of the future profit by experts and outsiders are 
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respectively.  Calculate the above formulas and explain why experts who understand the technology make much better estimation.

Suppose now a new technology emerges that make the existing technology will have 15% chance of bringing high profit and 85% chance of losing money. The experts on the current dominant technology still make the estimation on the same assumption. In this situation, the uncertainties in estimation of the future profit by experts and outsiders are 
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respectively. Calculate the above formulas and explain why expertise and prestige may hinder understanding in a new and totally different environment. 
4. Suppose an insider of a company believed that there is a 70% chance that the company’s stock will outperform the market and 30% chance that the company’s stock will underperform the market. If the objective probability distribution is (80%, 20%), what is the value of the judgment? After one year, the share price rose substantially and becomes slightly over valued. In the next year, the objective probability distribution for the share price to outperform and under perform the general market is (45%, 55%).   One small investor, after observing the rapid rise of the stock in the past year, believes that there is a 80% chance that the company’s stock will outperform the market and 20% chance that the company’s stock will underperform the market. What is the value of his judgment? 

5. From data provided in The Worldwide Equity Premium: A Smaller Puzzle, the top five long term best performers in stock markets are Sweden, Australia, South Africa, United States, and Canada. All are resource rich countries. Why technology advanced but resource poor countries, such as Germany and Japan, cannot sustain long term high returns in stock market? 
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